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ENGLISH VERSION

All questions are compulsory

1x9=9

Answer in one word : 1x5
1) Who proposed the concept of 'cycle of erosion'?
2) What is the density of population of India according to the census-2011.
3) Name the junction of two different Air-Mass.
4) Which product is related with the term "White Revolution'?
5) Which type of settlement develops in the junction of some roads?
Choose the correct answer : 1x4
6) The earth movement by which continent is formed--

a) Eperiogenic b) Orogenic c) Isolatic d) Sudden movement
7) Development of iron & steel idustry depends upon--

a) Market b) Iron ore c¢) Coal d) Hydel power
8) Which type of Migration takes place in search of pollution free environment--

a) Rural to Urban b) Urban to Rural ¢) Rural to Rural d) Urban to Urban
9) Which type of city Varansi is--

a) Tourist City b) Defence City ¢) Religious City d) Residential City
Answer the following questions in short : 2x10=20

10) What is weathering~
11) Write any two major charecteristics of Dendritic drainage pattern.
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12) What are soil formation processes?
13) Whatis Ferrel's Law?
14) Whatis ITCZ?
15) What is crop rotation?
16) What is Agro-based idustry? Give example.
17) What is Population Pyramid?
18) What is Metropolis?
19) What is Region?
Answer the following questions in brief : 3x7=21
20) What are the characteristics of Radial drainage pattern and centripetal drainage pattern.
21) Draw a soil profile and label the Horizons.
22) Write three processes of soil conservation.
23) Write the origin of EI-Nino.
Or,
Differentiate between cyclone & Ani-cyclone.
24) Mention the determinants of population growth. Discuss any one in short.
Or,
Classify Indian Urban Settlement as per census with examples.
25) What are the factors for the development of linear settlement pattern?
26) Why is Bangaluru called 'Silicon Valley'?
Or,
What is human development? Mention the indicators of Human Development Index.
Answer the following questions : 5x4=20
27) Discuss the erosional landforms produced by ground water.
Or,
Discuss the landforms created by depositional activities of Sea-Waves.
28) What is fluvial cycle of erosion? Analyse the youthful stage of Davisian Fluvia Cycle of Erosion with
diagram. 1+4
29) Make a comparative study on wet farming and dry farming.
Or,
Discuss the favourable geographical conditions for the production of tea in India.
30) Explain Weber's industrial locational theory with diagram.
Or,
Discuss the controlling factors for the development of Auto-mobile industry in India.
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ENGLISH VERSION

1.a) (i) Show unmetalled road and graveyard using conventional sign.
(ii) Draw landform from the given contour and name the feature.
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b) Identify three types of drainage palterns from the topographical map supplied to you. Draw and interpret

them.

2. Interpret the given weather map under the following heads :
(i) Pressure-distribution : low pressure and High pressure areas.
(i) Drawing of pressure gradient with the help of cross section.
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3. Answer the following questions on the basis of given data.
Table : Number of scheduled caste.
208, 868, 56, 114, 175, 139, 26, 39, 39, 190, 190, 114, 21, 35, 198, 28, 54, 449, 346, 177

i) Select 5 (five) class interval. 3
i) Construct frequency. 1
iii) Draw Histogram 2
iv) Draw Frequency Polygon on the Histogram. 2
4. Field Report and viva voice. 5+2
5. Laboratory Note Book and viva-voice 2+1
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